1. 3’ \3=1.732 qur V2=1414 % @

3.

1
(1) 0.064
(2) 0.308
(3) 0.318
(4) 2.146
(5) ST & ¥ Ay

% 9.30 wfy Rewirm a4 & e a1 T
® W F 8:7 % orura § fremar man aft fys
mwtlomm%,ﬁwwﬁﬁi
BT e vl Rewom @r 37

(1) 2 10.30
(2) 7 10.60
(3) 2 10.80

(4) T 11.00

(5) sat & T Oy

U6 ARY 9%d, A M, e 9w oS
65 el %, % g 9o A 2 92 10 fFe @
¥ sEd Ty dex wiy fee ¥

(1) 200
(2) 500
(3) 600
(4) 700
(5) STX & ¥ Awd

If 3 =1.732 and v2 =1.414, then

\/73—-1\/—5' is equal to

(1) 0.064
(2) 0.308
(3) 0.318
(4) 2.146

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,

what is the rate per kg of the second quality
of wheat?

(1) % 10.30
(2)  10.60
(3) % 10.80
(4) T 11.00

(5) Not attempted

A motorist travelled between two towns,
which are 65 km apart, in 2 hours 10 minutes.
The speed in meters per minute is:

(1) 200
(2) 500
(3) 600
(4) 700

(5) Not attempted
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T 8000 3 TRT 5% afid TwmyG =™ & T
T feas ast ¥ 7 9261 ® wTg, wERs s
s wdifa g k7

1
3_ 1

(I) 3 i !
2) 3 | N

2
(3)' 4— L{

3 .
@ 5 e
(5) wOX T M A

|
smw@fé\amﬁ 12, 15 3T 18 &
e &, &ny - L
(1) 10,010
(2) 10,015 | y &
(3) 10,020
(4) 10,080
(5) e T T
-

A B A maa T 85,000,7 2 15,000 @M
T AN AN 51| wF o & ¥, e & A
fope argu § S @™ ?Tlllﬁﬂw?

(1) 3:4

(2 3:5 “p
(3) 15:3

(4) 17:3

(5) 3TT 8 &1 A

IKSHR / W3 / Page 3

1‘]..”'(((6 5.)'_0—"9

In how many years will a sum of ¥ 8000
at 5% per annum compound interest,
compounded annually becomes ¥ 92617

e

3—

(1) 3
(2) 3

2
4=
3) 3

4) 5
(5) Not attempted

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,010
(2) 10,015
(3) 10,020
(4) 10,080

(5) Not attempted

Lf)

s

i
\ )

L)

L

o\
[ -

L)

"{‘1 {

A and B started a busmess by investing
¥ 85,000 and T 15,000 resp,actlvely In what
ratio, out of the following, t]1e1r profits will
be divided after one year?[ -

(1) 3:4
@) 3:5
(3) 15:3
4) 17:3

(5) Not attempted

('"‘J“
NG
L
)
N

TF %14 & firg warsr / SPACE FOR ROUGH WORK

P.T.O.



7. R O<x<l & AP F A g Qo
e i
(D x

) x2

1
3 -
X

1
4
X

(5) AT & AT @Ted

8. 22x3°x5°. 22x32x5%x7 &
24 %3* x5x 72 x11 @ HCF ¥
(1) 22 x3%x5
2) 22x32x5x7x11
3) 24x3%x5°
4) 2% x3* x5 x7x11
(5) waT & & AEd
9. a:b¥% vaE® g § W AE A Gen fred
S ¢ d T E, ¥

ab—cd
a—b

(1)

ac + bd
c+a

(2)

ad + bc
c+d

(3)

ad — be
c—d
(5) I 7E T AmEd

(4)

IKSHR / W3/ Page 4

% &1 % o wr /| SPACE FOR ROUGH WORK

If 0<x<l,then the greatest number among

the following is :
(1) x

(2) 42
1
3) -

1
4) 2

(5) Not attempted

The HCF of 22335, 2_3><32><52><7
and 24><34><5><72><11 is

(1) 22x3%x5

@) 2°x32x5x7x11

() 2435

@ 24x3* %57 x7x11
(5) Not attempted

The number that must be added to each term
of a : b so as to get the ratio ¢ : d, is :

ab—cd
a—b

ey

ac + bd
c+a

(2)

ad + be
c+d

(3)

ad — bc

(4) c—d

(5) Not attempted

P.T.O.




10. =X 9T geEet A, B, C o D &1 sfvem
49.5 ¥| wean B o D &1 oT%E a1 Bm?
(1) 2499
(2) 2450
(3) 2352
(4) 2550
(5) saT & 2 GEd

X 1 2x
=7

11. x—1+x+1 1—x2
(DO 1
2) 2
3) 3
4) 4
(5) T & 3 9y

1
12.Aqas$ré$r§ﬁm5fé=ﬁﬁfaﬂm%
2 .
Safs B 3@ & @1 g'ﬁﬂTlOﬁ?f{ﬁﬂ
qear &1 A 9a1 B 2F e &Y 39 & &t
oo & § qu & g ¥ 7
1
7 —
(1) >
4
8_
(2) 5
3
9_
(3) 3
(4) 10
(5) TaT E 27 °9mEd
IKSHR / W3 / Page 5

WA

P

10. The average of four consecutive numbers A,

11.

12.

“A can complete —

B, C and D is 49.5. What is the product of
B and D?

(1) 2499
(2) 2450
(3) 2352
(4) 2550
(5) Not attempted

x 1 2x
+ + =7?
x=1 x+1 1-x2
(1)1
(2) 2
(3) 3
4) 4

(5) Not attempted

3 of a work in 5 days and

B can complete 5 of the same work in

10 days. In how many days both A and B
together can complete the work?

1
M 75

4
_(2) 8;.

3
92
(3) 3

4) 10
(5) Not attempted

T% & % firg @ / SPACE FOR ROUGH WORK

P.T.O.




13.

14.

15.

18 eft o1 AT U v % o w A |, 3y
o T Rea B9 @1 9 §ha ¥ 7

|
(19 36

(2) 216
3) 6 ' \
(4) 218

(5) ST =& I @A

20% e 10%%&%&135@%@@%
LU

(1) 30% B
) 25% ) |
(3) 28%
(4) 27%

(5) Tax & 3 aEd

L

fod TR & 3:5 % s § R frar T
A sETEM T 75 %, A ¥

(1) 120

(2) T 130 Lf
(3) T 150 \
(4) T 240 ..,

(5) IaT & T a |

IKSHR / W3 / Page 6

’\/
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13. How many cubes of edge 3 cm can be cut

14,

15.

TF & & ﬁm T / SPACE FOR ROUGH WORK

out of a solid wooden cube of edge 18 cm?

(1) 36 .
(2) 216
(3) 6 J
(4) 218 |
(5) Not attempted E_;:
5

("‘\
The single discount, qquwalent to two
successive discounts of-20% and 10% is :

(1) 30%
2) 25% S
(3) 28% -
) 27%

(5) Not attempted

I
=T

A certain sum is divi:e‘l"t;d in the ratio 3:5.
If the greater part is 75, then the sum is :
N

(1) 120 r
(2) T 130 LM
N
3) T150 O
LY
(4) T 240 -
™

(5) Not attempted l

P.T.O.



16.

17.

18.

19.

20.

Frfie & ¥ F-a1 I FEBR B TH Wy
qﬁ% ? 14

(1) gagms 7

(2) SRR

(3) BawrguTE

(4) ST |

(5) SuC T8 [T wed

et smmaﬁ?ﬁmwgﬁw‘rwﬁ‘rsmt—
(1) s O
) O
(3) 3wy
(4) stfdre
&) R

|\1

ﬁqw%&mﬁﬁﬁmﬁa‘fmwm
TRgE 7L
(1) o e s’ ® T&d @7

(2)a€fﬁ=|%mw q T T W B
@I

(3) SE¥ @er, § one A e e |
(4) 39 U & o HIS T
(5) ST & IA-aEEd

HYEY THE U &l Stud faue & -

(1) pieaa ge9 —

(2) fafaa gew

(3) ®ET ey

(4) @11 Jou

(5) Tt & < AEd
!

H T qEH s W ¥ -

(1) & o

(2) 5

(3) 7 '

(4) 79

(5) st € T wwEy

IKSHR /W3 /Page 7

21.

22.

23.

24.

25.

| ——

% 14 % feru w7 / SPACE FOR ROUGH WORK

whh A gt @ Ao em gm TR 7
(1) gfe

(2) &qm I

(3) g

(4) &g

(5) Tmt € 2= =

‘mﬂam’%mmm*‘
(1) ¥ BisHt /@ A

(2) srg diae

(3) &g 7 &= A7)

(4) T BT HE

(5) SuY & I A

BT + ST am‘rfrﬁaa%mmaa?ﬂmwgﬁ
e T - :
|

(3) pemeTEA
(4) Peme
(5) saT & %vn am?f

R IIEIEE 3@%@%@@
qEIAE — |
(1) TeaaEe shme & T=ia
(@) e sfre ¥ wer
(3) o <hreTE % 94 ¥ Wk
(4) g sfem § wdftm
(5) FaX «E I |@rEd
o

Wmﬁﬂﬁ‘%ﬂﬂﬂ’fﬁmaﬂaﬁ = ¥ -
(1) wfera

(2) dTepTioTen

(3) wifsw (

(4) arffye

(5) wwﬁ&mm

P.T.O.




26.

27.

28.

29.

30.

Ia ¥ few o § wame Wiew Q9 e &)
T A ?

(1) &t

(2) afteTg

(3) HteH

(4) oty Wyt

(5) ST 7E T A

wfrs fedbe fammdl ¥ =i frw 3w ¥ fig
FTOET firdhe B ¥ 7

(1) I=E=

(2) =hdie

(3) §s

(4) smefean

(5) ST & | =

HETAIY D91 & ?
(1) g

(2) e

(3) ekt

(4) sreThicat

(5) ST & A Awd

g W faeer (TIeEsY) @ e e ad
o 7

(1) 1976

@) 1975

(3) 1959

(4) 1950 :

(5) T & A 9

ey el T Hen FR (STESIYAET) H Rl
FateTs SHEar & 7

(1) gig

(2) ||

(3) =

(4) 9=

(5) ST -Té T Gy

26.

27.

28.

29,

30.

Which State in India was the first one to
introduce Mid day meal scheme?

(1) Kerala

(2) Tamil Nadu

(3) Karnataka

(4) Andhra Pradesh

(5) Not attempted

Famous cricketer Ben Stokes plays
international cricket for which country?
(1) West Indies

(2) New Zealand

(3) England

(4) Australia

(5) Not attempted

Which is the second largest continent after
Asia in terms of area?

(1) Europe

(2) Australia

(3) Africa

(4) Antarctica

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1976

(2) 1975

(3) 1959

(4) 1950

(5) Not attempted

HO\.N many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Five

(2) Seven

(3) Nine

(4) Three

(5) Not attempted

IKSHR / W3 / Page 8
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32.

33.

34.

35.

- ]
IKSHR / W3/ Page 9

Prafofas = gafm iR

-1 -1l
A. Tz gamE I 1918
B. Hﬁ]ﬁwmm 1. 1919
C. P worgay & geamr 111 1922
D. smedm siiEie V. 1930

(1) A-IL. B-1. C-1V. D-III
(2) A-IIL. B-11, C-I1. D-IV
(3) A-IL. B-1V. C-1. D-II
(4) A-IIL. B-1. C-II. D-IV
(5) T & & =

e Y91 3 o 2023 & wreg & N-20 HT rEHEA
T & R

(1) =faror ardres

(2) FHATET

(3) sTwRy

(4) s

(5) Tt & 3wl

Frafafad § & feg Tog & 9 @1 g@e T
HET STaT & °

(1) sdETe

(2) ®Ate®

(3) Huea

(4) IO W_Y

(5) ST &N S 9@Ed

STEEANT STEIAT &I a9 §g fhar AT WY gl
I Prefefag & 4 69 o= & amr @m & ot ?
(1) @st

(2) @rd @

(3)?i'qTT"T

(4) TEHQEIS

a0 argEsa fhad @ A fawfea &7
(1) #me

(2) 9=

(3) |

(4)

(5) IEC TE A AEA

34.

T &1 & for e / S

31.

32.

33

PACE FOR ROUGH WORK

Match the following :

List-1 List-I11
A. Rowlatt Satyagraha I. 1918
B. Civil disobedience 1. 1919
movement
C. Mill workers' strike . 1922
D. Non-cooperation IV. 1930
movement

Choose the correct answer from options
below :

(1) A-Il, B-1, C-IV, D-III

(2) A-lIL, B-II, C-I, D-IV

(3) A-IL, B-1V, C-1, D-III

(4) A-lll, B-I, C-II, D-IV

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
2023?

(1) South Africa

(2) Canada

(3) Bangladesh

(4) Brazil

(5) Not attempted

Which of the following states is known as
'Sandalwood state of India'?

(1) Chhattisgarh

(2) Karnataka

(3) Meghalaya

(4) Uttar Pradesh

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in :
(1) Kheda

(2) Chauri Chaura

(3) Champaran

(4) Ahmedabad

(5) Not attempted

. Our atmosphere is divided into how many

layers?

(1) Eight

(2) Five

(3) Seven

(4) Nine

(5) Not attempted

P.T.O.




36.

38.

39.

-7 qeft ot igen @ ween ¥ 7
(1) =ar fafem

(2) wredra i

(3) =W |

4) whm faftw

(5) St T& ¥ 9wy

. T4 1950 % Ty ¥ OO T TRE s

AT | AR, NI B WA HT R 7w
IR FE YT gom 1 ?

(1) gua.T

(2) 3.

(3) wi™

(4) o

(5) SO & I =@

forg ad S @ gRem @ ¥ TETS gus 1
TeT Ry &9

(1) 1906 -~

(2) 1909 -

(3) 1915

(4) 1916

(5) JOT & & 9wd

e e T T T T s,
2005 (weEm) N WA SR ¥ a9 # R
Rl % TemmT @ ME A Y

(1) 120 &=,

(2) 75 ®&=

(3) 100 f&=

(4) 90 A

(5) TaT & F amed

fape aafad A A€ 2019 % g W T &1 A
wran 7
(1) e faftgemme @™
(2) wa ga

(3) . quF wofia
(4) s oA Ta
(5) waT T AT |

|
)

IKSHR / W3 / Page 10

36.

37.

38.

39.

40.

Which bird does not make its own nest?

(1) Weaver hird_
(2) Indian robin
(3) Koel

(4) Tailor bird
(5) Not attcmp_ted

Civil Rights Movement of 1950's put an end
to social discritnination. From where did the
movement begin?

)] U.S.A. e

(2) UK. (-

(3) FRANCE *

(4) GERMANY

(5) Not attempjch

In which year dIiDd the Congress and the
Muslim league sign the Lucknow pact?
(1) 1906 '

(2) 1909
(3) 1915
(4) 1916
(5) Not attempted

Y

In Mahatma Gandhi National Rural
Employment Guarantee Act 2005
(MGNREGA), how many days of
employment are guaranteed in a year by
the Indian Government?

(1) 120 Days -
(2) 75 Days
(3) 100 Days
(4) 90 Days
(5) Not attempted
,!,
Who won the '‘Bharat Ratna Award' for year
2019? U
(1) Ustad Bismillah Khan
(2) Pranab Mukherjee

(3) Dr. Bhupen Hazarika
(4) Prof. CN.R. Rao
(5) Not attempted

% w1 % fire e / SPACE FOR ROUGH woRk

p.TO.




41. Choose the alternative which best expresses

42,

43.

45.

e given sentence in Passive Voice.
ust we cut this tree?

(1) Must this tree will cut?

2) Must this tree was cut?

3) Must this tree be cut?

4) Must this tree is cut?

(5) Not attempted

Fill in the blank with correct form of verb.
Neither of the two men very strong.
(1) were

(2) was

(3) will be

(4) shall be

(5) Not attempted

Arrange the following parts of the sentence
to make a meaningful sentence.

A. to understand

B. to many people

C. threatening and even impossible
D. grammar appears

(1) CABD

(2) BDCA

(3) DACB

(4) ADBC

(5) Not attempted

Replace the underlined word/phrase with an
alternative to make a grammatically correct
sentence.

"The ladder will be collapse if you push the
wall with both the hands.

(1) will collapse

(2) will have collapsed

(3) will have been collapsing

(4) No change

(5) Not attempted

Pick out the part of the sentence which
has an error. If there is no error, your answer
is '4'".
The whole block of flats /

A

including two shops were /
B

destroved in the earthquake.
C

(1) A

(2) B

3)C

(4) No error

(5) Not attempted

IKSHR / W3 / Page 11

46.

47.

48.

49,

50.

Find out the antonym of 'democracy'.
(1) popular

(2) republic

(3) delicacy

(4) monarchy

(5) Not attempted

Find out the synonym of the underlined word
in the following sentence.

Colours, like features, follow changes of
emotions.

(1) moments

(2) movements

(3) sentiments

(4) under-current

(5) Not attempted

Choose the correctly spelt word :
(1) incradulus

(2) incradulous

(3) incredulous

(4) incredulus

(5) Not attempted

Change the following sentence to indirect
speech.

He said, "Nambiar works hard."

(1) He said that Nambiar worked hard.
(2) He said that Nambiar was working hard.
(3) He said that Nambiar had worked hard.

(4) He said that Nambiar had been working
hard.

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour.

(1) in the beginning
(2) at a crucial time
(3) before an hour
(4) at the last minute
(5) Not attempted

T% &1 % fa ware / SPACE FOR ROUGH WORK

P.T.O.




51.

53.

54.

o] @ geTsha ¥ o
(l)tﬂmmrﬂ&—atu
“)ﬂﬂ&ﬂm’éh
(hirr{%%wﬁmmiﬁtl
(4)wﬁmaﬁmm&ﬁ%|
ﬁ)tﬁf(ﬂlﬁ%ﬂ'{ﬂmﬁ

.ﬁw%fhﬁﬂlahllﬁgﬂﬁaﬁ

1

iha F] AW TTEA 3N
A. IS I sam@ sl
B. ¥gan 1. %%
C. de™ M. e (i)
D. 98l IV. =

(1) A-II; B-1. C-1II. D-1IV
(2) A-IL B-L. C-IL. D-IV
(3) A-NL B-1. C-1V, D-II
(4) A-IIL, B-II. C-1V, D-I
(5) rﬁﬂ“:r%’r 3T e

m-lﬁ@ﬂ%ﬁaﬁw‘m—ﬂﬁﬁﬁnﬁ%m&

goferT BE): |
w-b ww-11
A. Wi I f= @
B. IR 1. i
C. agd 1. TS o
D. s IV, oEe
wel e g -

(1) A-IV. B-III, C-1, D-II
(2) A-F¥ B-1, C-1II, D-1I
(3) A-IV, B-I, C-II, D-III
(4) A-I-B-IV, C-III, D-II
(S)Bﬂiwﬁlﬁaﬁ%

i @ g

-1 w11
W F AR, Tt
A. BT I &
B. m:) II. ¥
C. q&r JI. = e
D. maco IV. 351

(1) A-I;B-IV, C-11I, D-II
(2) A-It. B-11I, C-1, D-IV
(39 A-LIL B-II, C-1V, D-I
(4) A-IL, B-L. C-1V, D-11I
(5) FaT F# &1 @Ed

IKSHR / W3 / Page 12
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S1.

53.

54.

Pathogens are microbes which :
(1) Spoil food

(2) Cause diseases

(3) Spoil leather goods

(4) Spoil standing crops

(5) Not attempted

. Match the following I and IT : .
I |
Name of the Organ of
Organism Respiration
A. Human being I. Trachea
B. Earthworm II. Lungs
C. Insects I1. Gills
D. Fish IV. Skin

(1) A-1I, B-I; C-IL D-1V
(2) A-IIL B-l, C-II. D-IV
(3) A-IIL, B-L, C-IV, D-II
(4) A-1II, B-1L, C-1V, D-I
(5) Not attempted

Match the items in column-I with those in
column-II :

Column-I' Column-II
A. Salivary gland 1.  Bile juice
B. Stomach | II. Insulin
C. Liver III. Hydrochloric Acid
D. Pancreas IV. Amylase

Choose the correct option :
(1) A-1V, B-1II; C-1, D-1I
(2) A-1V, B-L-C-III, D-II
(3) A-IV, B-1,; C-II, D-III
(4) A-I, B-IV, C-III, D-II
(5) Not attempted

Match the follgwing :
Column-I Column-II
Name of the Movement
Animal
A. Snake ! ) [. Swim
B.  Fish I II. Slither
C. Bird [1I. Walk
D. Cow 1) IV. Fly
(1) AL, B-IV, C-IIL, D-1I '
(2) A-lI, B-111, C-1, D-1V
(3) A-IIL, BIL C-1V. Doy
@) A-LL B-I, €1y, pop
(5) Not auunpud
PTO.

SE”




5s. Waﬁmwmmﬁﬁwmt

(1) S u

(2) ward

(3) ®erd

(4) Frsgras

(5) Jo 7 7 wed

56. Preffas & @ @ @ e wbea 7

(1) s & am § ofads

(2) T & A

(3) FreumEt s@ § T o HE
(4) STorETST HT R oTRT ¥ iRaR
(5) sTx & I A=

. IR (TEEEE) Reed w27

(1) ==

Q) dary
N T

3)
(4 )
(5) sat =& a:ﬂ!?ﬂ%ﬁ

58. ﬁmwmmwwmm%?

(1) arg @ = gl §

(2) faeier @ =TI #
B)EHaIAHA

(4) S & S0 F Bl uig @ & ik o
(5) JaT & FATERS

59, M 1 @ T 1 A TG A g F

O STgeiia &l B
(1) sita=s (

(2) =4

(3) ®AM

(4) BB HH

(5) =T 7E &) d9mwEd

60. 4T ST FHUT TS AT FEIST Y Ra @ wrar

HT 2a1 & | 99T T WHIET @ faen ¥ g qfadw
w1 HEATT@ B

(1) aIeT &1 TG

(2) was1 & faramE

(3) WeBIgT & I

(4) waIgT @ TqEAA

(5) vt € &1 °TEd
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57.

58.

59.

60.

-

T &Td % foru we / SPACE FOR ROUGH WORK

« The process of loosening and turning of the

soil is called -
(1) tilling

(2) sowing ‘
(3) harvesting
(4) winnowing
(5) Not attempted

. Condensation is the process of —

(1) Conversion of water into its vapour
(2) Evaporation of petrol
(3) Separation!'of sand from water by
decantation'-
(4) Conversion of water vapour into its liquid
form -
(5) Not attempted
[ .
Typhoid is caused by —
(1) Fungi |
(2) Bacteria :_.r,_
(3) Virus Ly
(4) Protozoa | -
(5) Not attempit;’d
Large scale stci)fage of grains is done in :
(1) Metallic bins
(2) Silos and granaries
(3) Jute bags e
(4) Jute bags and metallic bins
(5) Not attempted
. 9

Dark coloured-bbjects absorb
than the light ‘celoured objects -
(1) more (N

(2) less [

(3) equal

(4) very much less

(5) Not attempted

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(N Reversion{of light

(2) Displacement of light

(3) Scattering of light

(4) Reflection of light

(5) Not attempted

heat

P.T.O.
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61.

62.

63.

B 1 @ o S % W e o
A E?

(1) F&

(2) =

(3) @t ward

(4) 9=

(5) ST 7 3 9md

qﬂmﬁmaﬁ@aﬁrwm-{&
FTE?

(1) 25 &
(2) 50 a=h
(3) 30 @
(4) 40 R
(5) IO =& 3 wEq

Y BT URAOHTOT a7 & ?

(1) g9 & SuT 3T f5e 3@ s gasha
HIAT|

(2) g & T 70°C 9UHE 9T TFTHT 30
T T& T BT 3T AT I8 iy 3=y
Hh IHHI WSO HTAT|

(3) g ® IEE ST AT @ d-ed g
H{®H WS HEAT|

(4) g9 & FIHT 70°C FTUHTH UT AN
30 TS T ™ SN YRR S saEe
gashia &t WeErw &)

(5) ITX & T @TEd

64. TSI Frefafeaa ¥ @ frad sifeaes & 916

T 9 Bl ulhar & 7
(1) aram

(2) =t

(3) uegfufram

(4) @i

(5) wax «E 3 9w

65. Frafafag 4 ¥ F—ar CErEafs &7

(1) gifsaw sEke
(2) ATnrEw
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61.

62.

64.

65.

% arﬂ-& a; fa-q == / sSPACE FOR ROUGH WORK

Which of the following food items gjyes
blue-black colour with iodine ?

(1) Fat

(2) Starch

(3) Minerals

(4) Protein

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -

(1) 25 cm

(2) 50 cm

(3) 30 cm

(4) 40 cm

(5) Not attempted

. Pasteurisation of milk is :

(1) Boiling of milk and then suddenly
chilling it.

(2) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.

(3) Boiling of milk and then slowly cooling
it and storing.

(4) Heating of milk to about 70°C for about

30 seconds and then suddenly chilling it
and storing.

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Copper

(2) Silver

(3) Aluminium
(4) Gold

(5) Not attempted

Which of the following is an antibiotic?
(1) Sodium carbonate

(2) Alcohol

(3) Sulphuric acid

(4) Erythromycin

(5) Not attempted

P.T.O.




66.

67.

68.

69.

TR et iy ooy -1l 37 T ¥ e

aﬁﬁ‘ml e

Rl o

B.

C. \111 I

D. V. graa
%&qmﬁmwwmmmmz

(1) A-I B-I1,'C-IIL, D-IV
(2) A-IV, B-Il-C-1, DIl
(3) A-II, B-IE.C-IV, D-I
(4) A-III, B-I["C-II, D-IV
(5) = = ?f[r qred

e )
ataTer GEer @ gade @ R & v @
T ¥ e & T we shar a@R T U
IR gE feard?
(l)ﬁesﬁaﬁﬁ‘_ﬁh
(2) & drerdy 3 @
(3) & w9 W@
(4)u1%aﬁm'dﬁ
(S)tﬁrﬂé’r%ﬂrmﬂ
L)
THIEH WIS B GHIU HEl & 7
(1) it
(2) aFgg [
(3) Fua
(4) AT
(S)Gﬁtaﬁ%ﬁmﬁ

mﬁammmhma
are ¥, gEQ WG B qE?

(1) o &

(2) T AR

(3) ud &

(4) =T

(5) waT & & A
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66.

67.

68.

69.

Match List-I Tourist Centres with List-II their
location, L)

List-1 List-1I
A. Sky Lark |, I Hodal
B. Damdama <, 1. Gurgaon
C. Dabchick ¢ | 1II. Uchana
D. Karna Laké IV. Panipat

Choose the correct answer from the options
given below :
(1) A-I, B-1I, G-I, D-IV
(2) A-IV, B-11,1C:1, D-III
(3) A-II, B-III,‘C-1V, D-I
(4) A-IIL, B-1, CAII, D-IV
(5) Not attemp[tea
LY
For recognizi&g the efforts towards
environment cofiservation and promotion,

Government ofl Haryana has introduced the
award in the name of :

(1) Shri Darshan/Lal Jain
(2) Shri Chaudhary Devi Lal

-(3) Shri Bhajan Lal

(4) Pandit Jasrla}jj
(5) Not attempted
S0
Tomb of Ibrahim Lodi is located at :
(1) Bhiwani ()
(2) Panipat (]
(3) Kaithal [
(4) Jhajjar
(5) Not attempted
Ly

Fatehabad, is ﬁ?me to two very important
monuments. One is The Lat; which is the
other one? L)

(1) Arjuna Sthal’

(2) Humayun .“(ljsque
(3) Dharamkshetra
(4) Banawali

(5) Not attempted

T% &4 % firg wgre / SPACE FOR ROUGH WORK

P.T.O.




70.

71.

72.

74.

frefifaa & ¥ 2 sRET & F& B 9OURE
FgrquT A& ¥ 7

(1) |t

(2) HHL

(3) TET

(4) arge

(5) vt 8 & @

#Reamon &1 o9 EW F R 7
(1) e

(2) zefean

(3) gl

(4) ®u
(5) TaT & FT 9w

Frfofaa wat gt foor Hifm

A. sfwamon & 8 gemafs wur ¥

B. dugen sfamn & gemate waet §
T ¥

IrE HUA (A7) 7 @ @ gE g

(1) A &haa

(2) B ®a@

(3) A 3t B T+

4 aadATIEB

(5) 39T FE &1 QEd

. g4 A fedet drts wEam @ fmde s@Ee

el feag ¥ 7
(1) wiemEmr
(2) dage
(3) =X

(4) TEU™H
(5) FaT «E 1 9Ed

& GUAT HE Ryd ¥ 7
(1) faan

(2) waEER

(3) =&

(4). e

(5) ST FE I aAmEd
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70.

71.

72.

73.

74.

Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Safa

(2) Kamri

(3) Dohar

(4) Sopali

(5) Not attempted

Which is the state flower of Haryana?
(1) Marigold

(2) Dahlia

(3) Tulip

(4) Lotus

(5) Not attempted

Consider the following statements :

A. There are 8 Administrative Divisions in
Haryana.

B. Panchkula is one of the Administrative
Divisions of Haryana.

Which of the above statements is/are correct?

(1) A only

(2) B only

(3) Both A and B

(4) Neither A nor B

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?
(1) Faridabad

(2) Panchkula
(3) Jhajjar

(4) Gurugram

(5) Not attempted

Where is Brahma Sarovar located?
(1) Sirsa

(2) Fatehabad

(3) Kurukshetra

(4) Hissar

(5) Not attempted

P.T.O.




75.

76.

77.

78.

79.

80.
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T Ty oy P 3 @ P A
T T e

(1) foarh

(2) wt=Tg

(3) =T

(4) femm

(5) ST 7 &= @

s T & e () At T
[CERR 34

(1) 80-90

(2) 90-110

(3) 110-130

(4) 130-140

(5) ST FE A1 9Ed

e ¥ arEer yone % et P b
TwLE?

(1) 521 =&¥

(2¥ 472 =¥

(3) 528 =&Y

(4) 452 -¢

(5) sa =& I @rEd

uﬁai@a@aﬁsﬂaﬁm@aﬁm%?
(1) gepam

(2) FramEEh

(3) Pl

(4y o &

(5) SET WEY AT 9red

ﬁv—vﬁaﬁrm%mﬁgﬁmvnmmﬁa
&7
(1) sat
(2) =féqor

G)
(4) uf¥=™
(5) waT & ¥ A

Pretffag & & S BRAT & YT gegdsn 47
(1) s=TCE 3| I
(2)-gh @

75.

76.

77.

78.

79.

80.

1% B % fayg e / SPACE FOR ROUGH WORK

Charkhi Dadri does not share border with
which one of the following?

(1) Bhiwani

(2) Mahendragarh

(3) Jhajjar

(4) Hisar

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State
have?

(1) 80-90

(2) 90-110

(3) 110-130

(4) 130-140

(5) Not attempted

How many total number of canals are there
under 'The Bhakra System' in Haryana?
(1) 521 Canals

(2) 472 Canals

(3) 528 Canals

(4) 452 Canals

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt is
associated with which sport?

(1) Boxing

(2) Shooting

(3) Wrestling

(4) Javeline Throw

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) North

(2) South

(3) East

(4) West

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Banarsi Das Gupta

(2) Bansi Lal

(3) Bhagwat Dayal Sharma

(4) Rao Birender Singh

(5) Not attempted

P.T.O.



81.

82.

83.

85.

T geen M (T uE A) F w4 ¥ Pryfrfae

Fue g e Fifg

A. & U N9 gy gfe ww ¥y

B. T® WA wU®N % TN H5E ¥ gmafie
fFrgsomdw ¥

SHE ¥ | B A wuA wl dR e

(1) ¥aw A |

(2) ¥aw B _1

(3) A 3T B

@HFAMTEB

(5) Jux & I 9w

TG e T W TR o= o ond B 7
(1) sfwr

(2) ST |
(3) =i ¥
(4) ®Ed
(5) SOT & I Ay

Prerfifed weri g7 frare i -

A. &= sfamn oo @ T o ¥

B. =¥ 2010 ¥ d9ey % s & e
9T &1 &1 W& fbar wan)

IudE HE H ¥ B wd ad R

(1) ¥ A :

(2) ¥aw B

(3) A 3R B g

(4)Fd A& B

(5) T & T TR

HranTe & g feer =famn & fea R A
e &7
(1) faan
(2) fem ‘
(3) wowit
(4y wE=TTE
(5) T=T 78l <Y "Ey
|

wfamm & qugsht’ & w9 F Rey e o ¥ 7
(1) gFEe V!

(2) HrEa

(3) wwude

(4) Taré !

(5) SOt 7 &1 °wEd
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81.

82.

83.

84.

85.

T &1 % foro @™ / SPACE FOR Roug WORK

‘onsider the following statements in respe,
(()fn?lfcl:dﬁdational Security Guards (NSG)p: t
A. It is one 0[ the Central Armed Police

Forces. . o '

B. It comes under the administrative contro
of the Ministey of Defence, GOVemmem
of India. ) ‘

Which of the abOve statements is/are correcyo

(1) A on:y |

2) B only '
§3; Both A anc{ B
(4) Neither A nor B
(5) Not attempted

In the dance fbrin 'Loor’, the word Loor
means? L)

(1) Girl -
(2) Ornament (]
(3) Music [~
(4) Crop

(5) Not attempted

Consider the f(,)l‘i_;)wing statements :

A. Hindi is theofficial language of
Haryana, ' .

B. Punjabi has_been accorded the status of
an official language of Haryana in the
year 2010., .

Which of the above statements is/are correct?

(1) A only

(2) Bonly | -

(3) Both A and’

(4) Neither A ndr B
(5) Not attemgﬂ{d

The ancient Fort-of Madhogarh is located in
which district of. Haryana?

(1) Sirsa :

(2) Hisar

3) Jhajjar

4) Ma.hendraga,rh

(5) Not attemp'tgid

Which is known as the "Cherrapunji of
Haryana"o
(1) Thanesar —
(2) Koslj J
(3) Chhachhray
Rewari

(5) Not attempted

—
P.T.O.




86.

87.

88.

89.

90.
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BRAT &Y g s w R § 7
(1) 1,50,00,000 — 2.00.00.000

(2) 2,00,00,000 — 3.00.00.000

(3) 3,00,00,000 — 3.20:00.000

(4) 3,20,00,000 — 3.50,60,000

(5) ST & ¥ A L0

Fra ¥ g sy g g few 9 9@ A
T A ? [

(1) 8 am¥w, 2015

(2) 8 a¥, 2018

(3) 25 wady, 2017 .

(4) 10 =, 2011

(5) SO T ¥ AR |

T T At s (R d @) %
Preafirfa e w0 Rrarg B -

B. i@ & o ve & qrgwEs S ra St @
q i ¥

e i
wl

I0ga F A B A/ Y g R D
(1) &aa A L)
(2) %=« B O
(3) A 3 B 3 Y

4)FATIEB
(5) ST & I AEd

Frafafiaa s X e #if -
A. whEmn # g gieaseigaaed B
B. wigEE ¥ g aigaard Raa ¥
Iodad ¥ § B /A ®wEHT G R 7
(1) A FHas O
(2) B Fa= QN
(3) A @t B 2l
(4) 7@ AFTTEB
(5) aT E A A L

<7
o g og &, whErn S ey ¥ 7
(1) fe@m -
(2) a9 —
(B)Wg
4
E5§§=ﬂ&ﬁ7ﬂﬂmﬂ

=

86.

87.

88.

89.

90.

What is the approximately population of

Haryana?

(1) 1.50.00,000 — 2.00.00,000

(2) 2,00,00,000 - 3,00,00,000

(3) 3.00,00,000 - 3,20,00,000

(4) 3.20,00,000 - 3,50,00,000

(5) Not attempted I

In which year was the Pradhan Mantri Mudra

Yojana launched in Haryana?

(1) 8t April, 2015 |

(2) 8t April, 2018 .,

(3) 25t February, 2017,

(4) 10t March, 2011 Y

(5) Not attempted .

Consider the following' statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana'is’ more than that of
Uttarakhand. =

Which of the above statements is/are correct?

(1) A only (.

(2) B only -

(3) Both A and B N

(4) Neither Anor B |

(5) Not attempted

Consider the following statements :

A. There are five Policg Commissionerates
in Haryana. O

B. Faridabad has a Po icp Commissionerate
located there.

Which of the above statements is/are correct?

(1) A only N

(2) B only L

(3) Both A and B

(4) Neither Anor B /)

(5) Not attempted =7

Where is IIIT, Haryana located?
(1) Hissar =

(2) Sonipat N

(3) Karnal i

(4) Kurukshetra

(5) Not attempted

T & % forg vt / SPACE FOR ROUGH WORK

P.T.O.




91. fyww & waw $Hifw

92.

93.

(hH ™™

(2) frew

(3) Reeifiet

(4) fraramm

(5) IR & A G

YE-gIE YW & @, § 0 @ B aw
YE EQ @ o1 A T S w ¥ A
A o w0 & @ few e F ar?

(1) =t

Q) w

(3) uft=m

(4) ST-—ufyaw

(5) ST TE & A

AT ST e F WE H oreaRad w9 ¥
T ¥ | HEst & S6 wdie & g at frak
STTET AU H! FARYT H T T et o=z
T

TOARHU

1 23456
(1) 4,2,1,6,3,5
(2) 3,6,1,4,5,2
(3)3,6,1,5,2,4
(4) 2,4,5,1,3,6

(5) Tt T & 9wd
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91.

92.

93.

1% % & fT @ / SPACE FOR Rougy worn

Choose the odd one out :
(1) Gram

(2) Quintal

(3) Kilometer

(4) Kilogram

(5) Not attempted

Early in the morning after Sunrise, Sunny
was standing facing a pole. The shadow of
the pole fell exactly to Sunny's right. Which

direction was he facing?
(1) South-

(2) East

(3) West

(4) North-West

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

TOARHU
123455
(1) 4,2, 1,6, 3, 5
(2)3.6,1, 4,5, 5
(3) 3, 6, 1.5.2 4
®) 2,45, 1,3, 6

(5) NO[ auempted

S

P.T.O.



9.

9s.

96.

& e ol ak @ @ Preed 1 3T 11 fam g
¥ R o HUAl B g A GO AR A AT
e qet @ fre & a7 v e E, P
f5 @ @/ fPrepd Ru o Ul 6 SETT T
TdETg w9 § Preean ¥/feme €

Fu & ARl wda ¥

Tt e e €

() o =l qeEr &
() o wda ARt ¥

(1) Faw frepd 1 Freperar 2

(2) Haw fread 11 Frepear 21

(3) Frepd 1 afx 11 S Frepera

(4) = @ e 1 o =1 & 11 fFrpean 31
(5) SOT 7@l AT @

Freed

30 fawe &1 a9 @ifwg, s dEt g 39
YH weta ¥, R war q@y e, 9w 9w 4
geftra # ¢
&y : foger ;o wEsT s ?

(1) e

(2) @

(3) @

(4) T@

(5) wT T A AEA

afy s gz W # 'VIETNAM' &1 §2
'WKFVOCN' %, @ 36t %2 9 § 'BRITAIN'
%1 fpe wart foran s ?

(1) CTIWBKO

(2) CTIWCJP
(3)«CTIVBKO

(4) CTIUCIP

(5) SuT & & aed
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abcde Fa nid!

1\

94.

96.

Two statements are given, followed by two
conclusions I and II. Assuming the statements
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.
All oceans are mountains.
Conclusions : (I) Some rivers are oceans.

(Il) Some mountains are
rivers.

(1) Only conclusion 1 follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II follow.
(4) Neither conclusion I nor II follows.

(5) Not attempted

. Choose the option which is related to the

third term in the same way as the second
term is related to the first :

Pen : Write : : Spade : ?
(1) Crush
(2) Dig
(3) Cut
(4) Guard

(5) Not attempted

If in a code language '"VIETNAM' is coded
as "WKFVOCN!', then how will 'BRITAIN'
be written in the same code?

(1) CTIWBKO
(2) CTIWCJIP
(3) CTJVBKO
4) cTiucip

(5) Not attempted

T &1 % firu e / SPACE FOR ROUGH WORK

P.T.O.

cTIvBKko
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97. gy A+ B ord ¥, 'A, B &1 wig ¥y 97. If A + B means 'A is brother of B'.

A - B ord & 'A, B @& afty ¥y A — B means 'A is the husband of B'.
A x B oad ¥, A, B%/ R ¥y A x B means, 'A is the ff:ltber of B'.
H}P*Q+R-Sm\;ni:%: Then P x Q + R — S means :

(1) P. S &% ®gt 13 L) (1) P is the father-in-law Of S
@QsHuwy (2) Q is the hl-lsband of ?.
G)ys.pRwhE (3) S is the wife of P~

(4) P is the father of S -

R (5) Not attempted

(5) SOt & ¥ A L) B
X 98. The fourth day of Mareh' in a year was

98. foredh o & =l a1 <fen ﬁi}gﬁ‘"—( o1, ar IE T Thursday, what was the last day of the next

& T TN H Ao B T month in that year? -]
(1) Jear 0N (1) Thursday C
(2) gHaR - (2) Friday >
(3) afrEmr (3) Saturday '
(4y W=t (4) Sunday
(5) ST =&l I A L]; (5) Not attempted L)
L) =
99. & J@er H < GWL% S BT - 99. Find the missing numbcr-i;l the series :
143, 149, 158, 170,  —, , 203 143, 149, 158, 170, = 1,203
(1y 182 \] (1) 182 j_‘
@) 185 [ @) 185 Y
(3) 190 ©(3) 190 |
(4) 192 4) 192
(5) STX & & A@wd (5) Not attempted L)

\.[‘

100.8% =fm X, Y, Z, M, Nl_@i\'{ O 3¢ @ 3K e 100. Six persons X, Y, Z, M, N-and O are sitting
B TH U A A3 ¥, A srasas e ¥ B in a row facing towards North but not

o B A B 7, K RN F g A Ay | Decessarily in the same grder. 'Z' s sitting

M Pt w0 d B1 Y N % dm k| Deeen X and N M ig oot at the end. 'Y’

is sitting immediate right to 'N'. 'O’ is not at
L} ' '7
O' 7@ et T T8 ¥\ M & Ter B ¥ the right end. Who are thgnelghbours of M?

(1) X st N =T (1) X and N
@ Z ey s () Z and Y O
(3) O 3T X . (3) O and X LM
(4) O st N (4) O and N -
(5) waT T & - (5) Not attempted
IKSHR / W3 / Page 22 T &1 & g = A/—EPACE FOR ROUGH WORK P.T.O.

XYiﬁMﬂ



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21

